Practice
Equations of Lines: x- and y-intercepts

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review
video again.

#1) Find the x-intercept and y-intercept, and graph the line using these
intercepts: y=2x—4
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#2) Find the x-intercept and y-intercept, and graph the line using these
intercepts: 3x+4y=12
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#3) Find the x-intercept and y-intercept, and graph the line using these
intercepts: Tx+3y—-21=0
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#4) Find the x-intercept and y-intercept, and graph the line using these
intercepts: 6y—5x+60=0
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#5) Find the x-intercept and y-intercept, and graph the line using these
intercepts: y=-3
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#6) Find the x-intercept and y-intercept, and graph the line using these
intercepts: x=6
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Answers:

#1) x-intercept:(2,0) y-intercept:(0,—4)
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#4) x-intercept:(12,0) y-intercept:(0,-10)
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#5) No x-intercept, y-intercept:(0,~-3)
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#6) x-intercept:(6,0) No y-intercept
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Solutions:

#1) Find the x-intereept and y-intereept, und graph the line using, these
intercepts; vy = 2y -
y-intercepl
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fi2) Find the x-intereept and y-intereept, and graph the line using these
intercepts: X+ 2y =7

x-infereept y-intercept

fuin g =0) TS
Xt 2yc %t 2y
k"?-/o):ﬁ? {‘o) % 71} e '-?

wow 7
g s b A =
‘,..(3!,_(1)_] :)} ; ZN 3_'\:)

](o“r)!

ome o ey e e et

#3) Find the x-intercept and y-intercept, and praph the line using, these

intercepts: T3y -2 =) Ix43y = 2
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#4) Find the x-imercept and y-intereept, and graph the line using these

intereepts: 0y - 5x .,l. ((:E M?g . 6'3 LSx = - L0
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153 Find the x-intercept and y-intereept, and graph the Jine using these
inlgreepls: y=--3
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#16) Find the x-intercept and y-intereept. and graph the Jine using these
infercepts: v =0 :
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